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Matrices02 Answers for No.9124
ExerciseMatrices02 Answers for No.9124

01 : det(n) = 20 02 : det (B) -18

03 : det(C) = -26 04 : det (D) =70

05 : det(E) = -48 06 : det(F) = 48

07 : m*det (C)-det (pE) = 1244 08 : det (m*D)-p*det (F) = -424
09 : x = -3 10 : y = -3

r -2
3 15
Noll=|Inv(G)=| A
3 3
12 : det(pA) = -8 x = -8 y = 3
13 : det(A) = 31 x =3 y 2
14 : det(A) = -13 x = =5 y = 3 z = 2
15 : det(A) = 20 x = =5 y = -4 z =3

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXKXKXKXMS/1-6400311-00002XX
Matrices02 Answers for No.9197
ExerciseMatrices02 Answers for No.9197

01 : det(pA) = =10 02 : det(B) 21
03 : det(C) = -46 04 : det (D) = 37
05 : det(E) = 15 06 : det(F) = -60
07 : m*det (C)-det(pE) = -153 08 : det (m*D)-p*det (F) = 393
09 : x =3 10 : vy =4

1 -1

Noll=|Inv(G)=| 3 || .

4
12 : det(pn) =7 x =7 y = -5
13 : det(A) = 18 X = -3 y = 2
14 : det(pn) = 4 x = 3 y = -4 z =1
15 : det(A) = -6 x = 3 y = =5 z = =7

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXXXXXXXXXXM5/1-6400311-00003XX
Matrices02 Answers for No.9252
ExerciseMatrices02 Answers for No.9252

01 : det(pa) = 21 02 : det(B) = =7
03 : det(C) = -76 04 : det (D) = -97
05 : det(E) = 74 06 : det(F) = 12
07 : m*det (C)-det(pE) = -2150 08 : det (m*D)-p*det (F) = -424
09 : x =3 10 : vy = 2
-3 5
4 4
Noll =| Inv(G) = 1 a1 1P ,
2 2
12 : det(pn) = 17 X = -0 y = 2
13 : det(nA) = 6 X = -8 y =7
14 det (A) = -2 x = 3 y =7 z = -4
15 : det(p) = -11 X = 6 y = =5 z = -2
X [Page = 0001] XXXXXXXXXXXXXXXXXKXXXKXKXXXXXXXKXXXKXKXKXKXXXKXKXKXXKK XX KXKXKKKXKXKXKKXKKXKXKX




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKKXXKXXKXKKXKMS/1-6400311-00004XX

Matrices02 Answers for No.9312
ExerciseMatrices02 Answers for No.9312

01 det (A) = 22
03 det (C) = 32
05 det (E) = 28
07 : m*det (C)-det(pE) = -1728
09 : x = -4
1

Noll=|Inv(G)=|
12 det (A) =1 x =5 y = -6
13 det (A) = =27 X = =2 y -8
14 det(p) =1 X = -6 y = -4
15 det (A) = -7 X =5 y = =2

1
—

N | Lo

Z

det (B) = -17
det (D) = -7
det (F) = 36
: det (m*D) -p*det (F) = =172
y = 4
b
= -8
= -6

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXXXKXXXKKXXKXXKXKKXKMS/1-6400311-00005%XX

Matrices02 Answers for No.9397
ExerciseMatrices02 Answers for No.9397

01 det (A) = -12
03 det (C) = -34
05 det (E) = 72
07 : m*det (C)-det(pE) = -678
09 : x =3
-l
11
Noll=|Inv(G)=|
11
12 : det(np) = 11 x = 2 vy = 6
13 det (A) = 23 X = =2 y = 3
14 det (A) = -22 x =3 y = -7
15 det (A) = =7 x = 8 y = =7

02
04
06
08
10

-3
22

22

Z
Z

det (B) -13
det (D) = -60
det (F) -40
det (m*D) -p*det (F) = -460
y = -4
9 9
= =2
=5

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKKXXKXKMS/1-6400311-00006XX

Matrices02 Answers for No.9449
ExerciseMatrices02 Answers for No.9449

01 det(pn) = -11
03 det (C) =0
05 det (E) = 37
07 m*det (C) —det (pE) = -999
09 X = -3
3
8
Noll =| Inv(G) = )
4
12 det (A) = 19 X =6 y = -3
13 det (A) = 18 X = -8 y = -4
14 det (A) = -18 X = -3 y = 2
15 det (A) = 15 X = -5 y = =2
X [Page = 0002]

02
04
06
08
10

N = =

det (B) = 10
det (D) = 54
det (F) = 8
det (m*D) -p*det (F) = 840
y = -2
b b
= -7
=3

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXXKXKXMS/1-6400311-00007XX
Matrices02 Answers for No.9562
ExerciseMatrices02 Answers for No.9562

01 : det(h) = -12 02 : det(B) = -7

03 : det(C) = -88 04 : det (D) = 6

05 : det(E) = -20 06 : det(F) = 84

07 : m*det (C)-det(pE) = -332 08 : det (m*D)-p*det (F) = 12
09 : x =3 10 : vy =3

SR
7 21
Noll=|Inv(G)= o
12
7 21
12 : det(pA) = -21 x = 6 y = 8
13 : det(A) = 15 x = 6 y = 7
l4:det(A)=—1O x = 4 y=_7 z = 3
l5:det(A):1 x = =3 y:_7 z = 4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00008XX
Matrices02 Answers for No.9721
ExerciseMatrices02 Answers for No.9721

01 : det(A) = -16 02 : det(B) -8
03 : det(C) = 68 04 : det (D) = 48
05 : det(E) = -64 06 : det(F) = 30
07 : m*det (C)-det (pE) = 268 08 : det(m*D)-p*det (F) = 402
09 : x = -4 10 : vy = -4

2 1

3 3

Noll=|Inv(G)=| | T

2 2
12 : det(A) = 35 x =4 y =17
13 : det(A) = -9 x =3 y = 5
14 : det(A) = -16 x = =7 y 3 z = =5
15 : det(pA) = -7 x = 8 y = -5 z = -4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXXXXXXXXKXXM5/1-6400311-00009XX
Matrices02 Answers for No.9789
ExerciseMatrices02 Answers for No.9789

01 : det(pn) = -18 02 : det(B) = 8

03 : det(C) = 7 04 : det(D) = 98

05 : det(E) = -17 06 : det(F) = -46

07 : m*det (C)-det(pE) = 1102 08 : det(m*D)-p*det (F) = 576
09 : x =4 10 : vy =2

4 5
37 37
Noll =| Inv(G) = 5 3 , ,

37 37

12 : det(p) =7 x = =7 y = -8

13 : det(pn) = -1 X = -6 y = -8

14 det (pA) = -12 x =4 y = 6 z = 8

15 : det(p) = =2 x = =5 y = -8 z = =3

X [Page = 0003] XXXXXXXXXXXXXXXXXKXXXXKXXKXXXXKXXXKXXKXKXXKKKXKKXXKK XK KXKXKKKXKXKXKKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXXXKKXXKKXXKXXKXKKKXKMS/1-6400311-00010XX

Matrices02 Answers for No.9795
ExerciseMatrices02 Answers for No.9795
01 : det(p) = 23

03 : det(C) = -11

05 : det(E) = 36

07 : m*det (C)-det(pE) = -983
09 : x = -4

-1
2
Noll=|Inv(G)=| |
5
Y
Yy
Yy
Y

12 : det(p) = 8 x =5 =7

13 : det(A) = -8 x = -4 = -2
14 : det(nA) = 9 X = -3 -5
15 : det(pA) = =22 X =5 = -4

02
04
06
08
10

1
—_

NIy

Z

det (B) = -9

det (D) = -189

det (F) = 156

det (m*D) -p*det (F) = -657
y = 4

4
-3

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXXXKXXKKXKKXKKXKKKXKMS/1-6400311-00011XX

Matrices02 Answers for No.9839
ExerciseMatrices02 Answers for No.9839

01 : det(A) = =20
03 : det(C) = -19
05 : det(E) = 51
07 : m*det (C)-det (pE) = -427
09 : x = -4

2

9

Noll=|Tnv(G)=| |

6
12 : det(pn) = =32 x = =3 y = 6
13 : det(pa) = -1 x = -5 y = -3
14 : det(n) = 27 x = 3 y = -4
15 : det(A) = 22 X = 6 y = =7

02
04
06
08
10

1
[a—y

o= o

Z
Z

det (B) 23

det (D) = 73

det (F) -84

det (m*D) -p*det (F) = 241
y = -3

-2

= -8

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKXKKXKMS5/1-6400311-00012XX

Matrices02 Answers for No.9843
ExerciseMatrices02 Answers for No.9843

01 : det(p) = -23
03 : det(C) = -44
05 : det(E) = 36
07 : m*det (C)-det (pE) = -420
09 : x = -2
1
6
Noll =| Inv(G) = )
15
12 : det(A) = -7 x = -4 y = -5
13 : det(n) = 9 x =3 y = 8
14 det (A) = -2 x = 8 y = 2
15 : det(A) = -6 x =17 y = -4
X [Page = 0004]

02
04
06
08
10

Z

7z =
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢

det (B) = 18
det (D) = 180
det (F) = =76
det (m*D) -p*det (F) = 1772
y = 2
b
-4
-5



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00013XX
Matrices02 Answers for No.9854
ExerciseMatrices02 Answers for No.9854

01 : det(pn) =7 02 : det(B) = 9
03 : det(C) = 52 04 : det (D) -69
05 : det(E) = 130 06 : det(F) = -34
07 : m*det (C)-det(pE) = -988 08 : det(m*D)-p*det (F) = -1
09 : x = -4 10 : vy =3

1 -1

6 6

Noll=|Tv(G)=| Sl

6 3
12 : det(A) = -40 X = 2 y = -3
13 : det(A) =5 x = =7 y = 6
14 : det(A) = -6 x =7 y = 8 z =5
15 : det(a) =7 x =5 y = 8 z = -4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00014XX
Matrices02 Answers for No.9862
ExerciseMatrices02 Answers for No.9862

01 : det(A) = 18 02 : det(B) 13
03 : det(C) = 51 04 : det(D) = -63
05 : det(E) = -16 06 : det(F) = -124
07 : m*det (C)-det(pE) = 118 08 : det (m*D)-p*det (F) = -128
09 : x = -3 10 ¢y = -2

-1 -1

6 6

Noll=|1nv(G)=| _| SO 1 A

9 9
12 : det(pA) = -4 X = 0 y = 3
13 : det(A) = -5 X = -6 y =7
14 : det(n) = -0 x =7 y 2 z =4
15 : det(pn) = -14 x =4 y = 3 z =5

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXXM5/1-6400311-00015XX
Matrices02 Answers for No.10278
ExerciseMatrices02 Answers for No.10278

01 : det(p) = 8 02 : det(B) 16
03 : det(C) = 18 04 : det(D) = -74
05 : det(E) = 12 06 : det(F) = 9
07 : m*det (C)-det (pE) = -252 08 : det (m*D)-p*det(F) = -1211
09 : x =3 10 : vy = -4
-1 -1
7 7
Noll =| Inv(G) = 1 ) , ,
7 35
12 : det(A) = =25 X = 2 y = 3
13 : det(n) = -1 X = 6 y = 4
14 det (A) = 8 x = =7 y = -6 z =4
15 : det(p) = -10 x =7 y = -6 z = 2
X [Page = 0005] XXXXXXXXXXXXXXXXXKXXXXKXXXXXXKXKXXXKXKXKXXXKXKKXKXKK XK KXKXXKKKXKXKKKKKXKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXXKXKXXXKXKXKXKXMS/1-6400311-00016XX
Matrices02 Answers for No.10361
ExerciseMatrices02 Answers for No.10361

01 : det(hA) = -10 02 : det(B) = -11
03 : det(C) = 42 04 : det (D) = 150
05 : det(E) = 14 06 : det(F) = -68
07 : m*det (C)-det(pE) = =770 08 : det (m*D)-p*det (F) = 1622
09 : x = -2 10 : vy =4

1 -

5 5

Noll=|v(G)=| .

25 25
12 : det(pn) = 11 X = 6 y = =2
13 : det(A) = -8 X = -6 y = =7
14 : det(A) = -9 x = -8 y = 2 z = =4
15 : det(pa) = -11 x = 8 y = -4 z = =2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00017XX
Matrices02 Answers for No.10532
ExerciseMatrices02 Answers for No.10532

01 : det(p) = -9 02 : det(B) = -19

03 : det(C) =0 04 : det (D) = 32

05 : det(E) = 88 06 : det(F) = -26

07 : m*det (C)-det (pE) = -88 08 : det (m*D)-p*det (F) = 314
09 : x = -2 10 : vy = -4

L |
15 6
Noll=|Tnv(G) = .
2
15 6
12 : det(A) = 6 x = 3 y = 8
13 : det(pn) = 11 X = 2 y = -7
14 : det(A) =5 X = 6 y = -5 7z = -7
15 : det(pA) = -33 x =4 y = 8 z = =3

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXXXXXXXXKXXM5/1-6400311-00018XX
Matrices02 Answers for No.10688
ExerciseMatrices02 Answers for No.10688

01 : det(a) = -18 02 : det(B) = -17
03 : det(C) = 42 04 : det(D) = -56
05 : det(E) = 14 06 : det(F) = 16
07 : m*det (C)-det (pE) = -770 08 : det (m*D)-p*det (F) = -568
09 : x = -4 10 : vy = 2
4 1
27 9
Noll =| Inv(G) = 5 1 ,
27 9
12 : det(Aa) = 21 x =1 y =5
13 : det(p) = 12 x =17 y =3
14 det(A) =5 x = -4 y =3 z = -5
15 : det(A) = -5 x =7 y = 6 z = 2
X [Page = 0006] XXXXXXXXXXXXXXXXXKXXXXKXXKXXKXKXKXKKKXKXKXKXKKKKXKKXXKK XK KXKXXKKXKXKXKKXKKKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX XXX KXKXKXKXKXMS/1-6400311-00019XX
Matrices02 Answers for No.10868
ExerciseMatrices02 Answers for No.10868

01 : det(pr) = -11 02 : det(B) = 20

03 : det(C) = -18 04 : det (D) = =27

05 : det(E) = 45 06 : det(F) = 12

07 : m*det (C)-det (pE) = -2934 08 : det (m*D)-p*det (F) = -291
09 : x =3 10 : y = -3

L
8 8
Noll=|Inv(G)= .
r =
8 24
12 : det(pr) = 4 x = 8 y = -5
13 : det(A) = -45 X = 2 y = 4
14 : det(A) = 9 X = =2 % -5 z = =3
15 : det(A) = -16 X = 2 y = 3 z =5

X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXKXX XXX KXKXXKXKXXXKXKXKXKXMS/1-6400311-00020XX
Matrices02 Answers for No.10900
ExerciseMatrices02 Answers for No.10900

01 : det(pr) = 11 02 : det(B) -14

03 : det(C) = =26 04 : det(D) = -19

05 : det(E) = -52 06 : det(F) = -24

07 : m*det (C)-det(pE) = 0 08 : det (m*D)-p*det (F) = -52
09 : x = -2 10 : vy = 4

S 3
26 26
Noll=|TInv(G)= .,
A2
13 13
12 : det(pA) = 12 x = 8 y = -4
13 : det(A) = 3 X = -6 y = -4
14 : det(n) = -3 X = 2 y = 5 z = -6
15 : det(pA) = -4 x = 3 y = =5 z = 6

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXXXKXXMS/1-6400311-00021XX
Matrices02 Answers for No.11693
ExerciseMatrices02 Answers for No.11693

01 : det(p) = 23 02 : det(B) = 8
03 : det(C) = 11 04 : det (D) = 42
05 : det(E) = -68 06 : det(F) = 8
07 : m*det (C)-det(pE) = 4374 08 : det(m*D)-p*det (F) = 136
09 : x =3 10 : y =4
= 1
Noll =|Inv(G)=| 4 , ,
-1
12 : det(A) = =21 x = -3 y = -6
13 : det(nA) = -8 X =3 y = -6
14 det (A) = 6 X = -0 y = -4 z = 2
15 : det(pn) = =22 x = =7 y = -5 z = -6
X [Page = 0007] XXXXXXXXXXXXXXXXKXKXXXKXKXXKXXKXKXKXXXKXKXKXKXXKKKXKKXKXKK XK KXKXX KK KXKKKKKKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00022XX
Matrices02 Answers for No.12097
ExerciseMatrices02 Answers for No.12097

01 : det(hA) = 15 02 : det(B) = 11
03 : det(C) = -18 04 : det(D) = -78
05 : det(E) = 16 06 : det(F) = -26
07 : m*det (C)-det(pE) = -1078 08 : det (m*D)-p*det (F) = -598
09 : x = -4 10 : vy =3

4 3

7 7

Noll=|Inv(G)=| |, A b

7 7
12 : det(pA) = -14 X = 2 y = -5
13 : det(pA) = -11 x = -4 y = 8
14 : det(A) = =7 X = 2 % 9 z = 4
15 : det(n) = -4 X = -0 y = =2 z =4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX XXXKXKXXKXKXMS/1-6400311-00023XX
Matrices02 Answers for No.12172
ExerciseMatrices02 Answers for No.12172

01 : det(pA) = =19 02 : det(B) 22
03 : det(C) = -68 04 : det (D) = -82
05 : det(E) = -26 06 : det(F) -54
07 : m*det (C)-det (pE) = 140 08 : det (m*D)-p*det (F) = 26
09 : x = -4 10 : y = -3

-1 1

2 2

Noll =|Inv(G)= b
-1 —
2

12 : det(pr) = 4 x = =5 y =17
13 : det(A) = -15 X = -8 y = =2
14 : det(A) =5 x = 8 y = =7 z = -4
15 : det(p) = -3 X =3 y = =2 z = -8

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXKXXM5/1-6400311-00024XX
Matrices02 Answers for No.12173
ExerciseMatrices02 Answers for No.12173

01 : det(pa) = -9 02 : det(B) 16
03 : det(C) = 49 04 : det (D) = -17
05 : det(E) = 12 06 : det(F) = -168
07 : m*det (C)-det(pE) = -128 08 : det(m*D)-p*det (F) = 232
09 : x = -4 10 : y = -2
-1 -3
11 22
Noll =| Inv(G) = ) 5 P ,
11 22
12 : det(A) = 18 X = -6 y = =2
13 : det(p) = -24 x = 4 y = -2
14 det (A) = 17 X = 6 y = =5 z = -8
15 : det(pn) = 2 X = -6 y = 8 z =5
X [Page = 0008] XXXXXXXXXXXXXXXXXKXXXXKXKXKXXXKXKXXXXKXKXKXXKKXKKXKXKK XK KXKXXKKXKXKXKKXKKXKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXXXXKXXKXKXMS/1-6400311-00025XX
Matrices02 Answers for No.12180
ExerciseMatrices02 Answers for No.12180

01
03
05
07
09

12
13
14
15

det (A) = -9
det (C) = -19
det (E) = -68
m*det (C) —~det (pE) = 468
x = -3
-1
6
Noll=|nv(G)=| |
6
det (A) = =2 x = -8 y = 3
det (A) = 16 X 3 y =5
det (A) = -14 X =4 y = -2
det (A) = 6 x =5 y = 4

02
04
06
08
10

-2
15
-1
15

zZ
Z

det (B) =17
det (D) 76
det (F) = 16
det (m*D) -p*det (F) = 1184
y = 4
b
-3
-2

X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXKXX XXX XXX XKXXKXKXKXKXKXMS/1-6400311-00026XX
Matrices02 Answers for No.12256
ExerciseMatrices02 Answers for No.12256

01
03
05
07
09

12
13
14
15

X Math@MUT X

det (A) = =20
det (C) = 49
det(E) = 0
m*det (C) -det (pE) = 98
x = -3
-

Noll=|Tnv(G)=| 3
det (A) = =29 X = =2 y =
det(A) = -9 x =5 y = -4
det (A) = =27 x = -4 y = -8
det (A) = -1 x = -4 y = 2

Matrices02 Answers for No.12278
ExerciseMatrices02 Answers for No.12278

01
03
05
07
09

det (A) = 9
det (C) = -36
det (E) = -16
m*det (C) -det (pE) = -16
x = =2
:i
Noll =|Inv(G)=| 3
-1
det (A) = 6 x = -5 y = -6
det (A) = -4 x = =5 y =
det (A) = 10 x = =5 y = 4
det (A) = -9 x = 8 y = 2
= 0009]

-5

02
04
06
08
10

w &

1
—

Z
Z

02
04
06
08
10

Z
Z

det (B) 22
det (D) = 18
det (F) -16
det (m*D) -p*det (F) = 88
y = -2
9
-6

7

XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK K KKKKKKKKKKKME/1-6400311-00027XX

det (B) 10
det (D) = 70
det (F) = -21
det (m*D) -p*det (F) = 1162
y = -3
b
6
5

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢
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Matrices02 Answers for No.12482
ExerciseMatrices02 Answers for No.12482

01
03
05
07
09

12
13
14
15

KKK

det (A) = 23
det (C) = 48
det (E) = 84
m*det (C) —-det (pE) = -624
x = 4
Noll=|Inv(G)=
det (A) = -4 X = -8
det (A) = -14 X = -2
det (A) = 17 X = 8
det (A) = -6 X = 4

y =

|
N

- -8

3
8

02 det (B) 14
04 det (D) -78
06 det (F) = 34
08 det (m*D) -p*det (F) = -146
10 y = -4
-2
é ) )
2
z = 2
z =5

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMS/1-6400311-00029XX
Matrices02 Answers for No.12586
ExerciseMatrices02 Answers for No.12586

01
03
05
07
09

12
13
14
15

X Math@MUT X

det (A) = =10
det (C) = 34
det (E) = -40
m*det (C) -det (pE) = 1114
x = 2
Noll=|Inv(G) =
det (A) = =2 X = -8
det (A) = 10 x =17
det (A) = 15 X = 6
det (A) = 2 X = -3

Matrices02 Answers for No.12677
ExerciseMatrices02 Answers for No.12677

01
03
05
07
09

det (A) = 22

det (C) = 30

det (E) = 132
m*det (C) -det (pE) = -72
x = -3

Noll =| Inv(G) =

det (A) = 18 x = -2
det (A) = 17 x = -7
det (A) = 20 x =3
det(A) = 4 X = -6
= 0010]

y
y
Yy

Yy

y_
y
Yy

y =
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢

W N N |~

|
N

-3
= -5
= -8

02
04
06
08
10

Z
Z

02
04
06
08
10

1
[

W N W

Z
Z

det (B) 19
det (D) = 80
det (F) 96
det (m*D) -p*det (F) = -208
y = -4
9
3
5

XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK K KKK KKK KKKKKME/1-6400311-00030XX

det (B) -9
det (D) = 16
det (F) = -68
det (m*D) -p*det (F) = 132
y = -3
b
-2
-5



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XXX XXX XXX KXKXXKXKXMS/1-6400311-00031XX
Matrices02 Answers for No.13490
ExerciseMatrices02 Answers for No.13490

01 : det(pA) = -14 02 : det(B) 15
03 : det(C) = 24 04 : det(D) = -126
05 : det(E) = =71 06 : det(F) = -48
07 : m*det (C)-det(pE) = 1941 08 : det(m*D)-p*det (F) = 18
09 : x =3 10 : vy =3

{ -5

Noll=|Inv(G)=| — 2 ||, .

1 2
12 : det(pA) = 8 x =4 y = 5
13 : det(A) = =32 X = =2 y = 6
14 : det(A) = 3 x = -8 y = -3 z = =4
15 : det(n) = 24 X = 2 y = 3 z = 6

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX KXKXXXKXXXKXXKXKXMS/1-6400311-00032XX
Matrices02 Answers for No.13500
ExerciseMatrices02 Answers for No.13500

01 : det(pn) = =22 02 : det(B) = -17
03 : det(C) = 50 04 : det(D) = -168
05 : det(E) = 83 06 : det(F) = 152
07 : m*det (C)-det(pE) = -2041 08 : det (m*D)-p*det (F) = -3144
09 : x = -3 10 : vy =2

5 4

27 27

Noll=|Inv(G)=| I

9 9
12 : det(A) = 23 X = =2 y =17
13 : det(A) = 15 X = -8 y = 2
14 : det(pA) = -10 x = =7 y = -4 z = =5
15 : det(pn) = -12 x = =5 y = 4 z =1

X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXKXXM5/1-6400311-00033XX
Matrices02 Answers for No.13637
ExerciseMatrices02 Answers for No.13637

01 : det(npn) = 12 02 : det(B) = 12
03 : det(C) = 8 04 : det (D) = 30
05 : det(E) = -31 06 : det(F) = -10
07 : m*det (C)-det(pE) = 55 08 : det(m*D)-p*det (F) = 280
09 : x =2 10 : y = -3
1 -1
2 2
Noll =| Inv(G) = ) o b ,
5
12 : det(A) = 6 x =1 y = 8
13 : det(A) = -45 X =5 y = 4
14 det (A) = 16 X =4 y = =3 z = =5
15 : det(A) = -8 x = =3 y = 2 z = -4
X [Page = 0011] XXXXXXXXXXXXXXXXXKXXXXKXXKXXXXKXXXXKXKXKXXXKXKXKXKXKK XX KXKXXXKKXKXKXKKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXKKXXXKXXXKKXXKXXKXKKKXKMS/1-6400311-00034XX

Matrices02 Answers for No.645101

ExerciseMatrices02 Answers for No.645101

01 det (pA) = -11
03 det (C) = -13
05 det (E) = 16
07 m*det (C) -det (pE) -141
09 x = 4
1

Noll=|In(G)=|
12 det (A) = 13 x = =4 y = =7
13 det (A) = -8 x = -3 y = =5
14 det (A) = 26 X = -3 y =5
15 det (A) = 4 X =3 y = =7

02
04
06
08
10

N | W —

zZ
Z

det (B) = -9
det (D) = -5
det (F) = 132
det (m*D) -p*det (F) = -269
y = 3
b
=7
=2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXXKKXXKXXKXXKXKMS/1-6400311-00035%XX

Matrices02 Answers for No.645102

ExerciseMatrices02 Answers for No.645102

01 det (A) = =19
03 det (C) = -64
05 det (E) = 32
07 m*det (C) -det (pE) -160
09 x = 2

1

2

Noll=|Inv(G)=| |

4
12 : det(nA) = -24 x = -5 y = -2
13 : det(A) = -19 x = =7 y = 6
14 : det(A) = 6 X = -0 y = -8
15 : det(A) = 9 X = 2 y = -4

02
04
06
08
10

Z
Z

det (B) = -7
det (D) = 60
det (F) 88
det (m*D) -p*det (F) = 152
y = -2
9 9
= =2
=5

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXKKXKXKKXKXKMS/1-6400311-00036XX

Matrices02 Answers for No.645103
ExerciseMatrices02 Answers for No.645103

01 : det(pa) = 19

03 : det(C) = -8

05 : det(E) = -6

07 : m*det (C)-det(pE) = -10
09 : x =3

-2
29
Noll =|Inv(G)= 5
29
12 : det(pn) = -3 x = -7 y = -6
13 : det(na) = 14 x = -8 y =5
14 : det(A) = -6 x = 4 y = 7
15 det(A) = -1 x =5 y = -4
X [Page = 0012]

02
04
06
08
10

-5
29

29

Z
Z

det (B) = -8
det (D) = -130
det (F) = 24
det (m*D) —-p*det (F) = -544
y = 3
b b
=5

=7

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXKXKXKXMS/1-6400311-00037XX
Matrices02 Answers for No.645104

ExerciseMatrices02 Answers for No.645104

01 det (A) = -12 02 det (B) = -13
03 det (C) = -24 04 det (D) = 87
05 det (E) = -48 06 det (F) = -116
07 m*det (C) -det (pE) = 3024 08 : det (m*D)-p*det (F) = 812
09 x = -3 10 : vy =4

-2 -1

15 6

Noll=|Tnv(G)=| I

15 6
12 : det(n) = 4 x = -3 y = 4
13 det (A) = -13 X = 8 y = =7
14 det (A) = 3 X =5 y = 8 z =3
15 det (A) = -9 x = -4 y = -3 z = =5

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00038XX
Matrices02 Answers for No.645105

ExerciseMatrices02 Answers for No.645105

01 det (A) = =15 02 det (B) = -21
03 det (C) = 26 04 det (D) = 86
05 det (E) = 4 06 det (F) = 96
07 m*det (C) —~det (pE) = 72 08 : det (m*D)-p*det(F) = 1184
09 x = 4 10 : y = -3

1 -1

Noll=|Inv(G)=| -1 3 |

2 4
12 det (A) = 11 x = -4 y = 2
13 det (A) = 27 X = -6 y = 4
14 det (A) = -36 x =5 y = 4 z = =2
15 det (A) = =12 X = 06 y = 4 z = =7

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXXM5/1-6400311-00039XX
Matrices02 Answers for No.645106

ExerciseMatrices02 Answers for No.645106

01 det (A) = 17 02 det (B) = -18
03 det (C) = -1 04 det (D) = 94
05 det (E) = -67 06 det (F) = -131
07 m*det (C) —-det (pE) = 4287 08 det (m*D) -p*det (F) = 618
09 X = =2 10 y = =2
-1 2
7 7
Noll =| Inv(G) = 1 3 ) ,
7 14
12 det (A) = 11 x = 4 y = 6
13 det (A) = -12 X = 8 y = 6
14 det (A) = 6 x = =5 y = 2 z = -8
15 det (A) = -6 X = -0 y = 5 z =4
X [Page = 0013] XXXXXXXXXXXXXXXXXKXXXXKXXXXXXXKXXXKXKXKXXKKXKXKXKXKKXKXKXKXKKKXKXKXKKKKKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXXXKXKXKXKXKXMS/1-6400311-00040XX
Matrices02 Answers for No.645107
ExerciseMatrices02 Answers for No.645107

01 : det(np) = 8 02 : det(B) = -13

03 : det(C) = -68 04 : det(D) = -5

05 : det(E) = -48 06 : det(F) = -20

07 : m*det (C)-det(pE) = 316 08 : det(m*D)-p*det (F) = 35
09 : x =3 10 : vy = 2

45
37 37
N ]] = Il’l G = ) )
0 v(G) s 3
37 37
12 : det(pA) = -9 x = -4 y =17
13 : det(p) =1 X 5 y -4
14 : det(A) = 12 X = =2 y =7 z = =5
15 : det(A) = 16 x =5 y = -6 z = 2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00041XX
Matrices02 Answers for No.645108
ExerciseMatrices02 Answers for No.645108

01 : det(p) = 10 02 : det(B) = -11
03 : det(C) = 10 04 : det (D) = -54
05 : det(E) = 58 06 : det(F) = 42
07 : m*det (C)-det (pE) = -3682 08 : det (m*D)-p*det(F) = -654
09 : x = -4 10 : vy =4

-1 1

Noll=|Inv(G)=| -5 i ,

4
12 : det(A) = 26 x = =7 y = -5
13 : det(npn) = 12 x = =7 y = =2
14 : det(pn) = -12 x =7 y = -8 z = 2
15 : det(pn) = -10 X = 2 y = =5 z = -4

X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXXXKXXXXXXXXXXXXXM5/1-6400311-00042XX
Matrices02 Answers for No.645109
ExerciseMatrices02 Answers for No.645109

01 : det(A) = =22 02 : det(B) = =7
03 : det(C) = -11 04 : det (D) = 204
05 : det(E) = -56 06 : det(F) = =72
07 : m*det (C)-det (pE) = 404 08 : det (m*D)-p*det (F) = 3408
09 : x =2 10 : vy = -4
-1 -5
8 24
Noll =| Inv(G) = 1 1 , ,
8 8
12 : det(p) =1 x =3 y = 6
13 : det(n) = 8 X = -6 y = 3
14 det (A) = -5 X = 06 y = -4 z = =3
15 : det(pA) = 3 X = 2 y = 5 z = -4
X [Page = 0014] XXXXXXXXXXXXXXXXXKXXXXKXXKXXXXKXKXXKXKXKXKXXKKXKKXKXKKXKXKXKXXKKXKXKXKKKKXKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXKXKXXKXKXXKXKXMS/1-6400311-00043XX
Matrices02 Answers for No.645110
ExerciseMatrices02 Answers for No.645110

01 det (A) = -13 02 det (B) = -8
03 det (C) = 86 04 det (D) -32
05 det (E) = 4 06 det (F) = -16
07 m*det (C) -det (pE) = -170 08 det (m*D) -p*det (F) = 32
09 X = 2 10 y = -3

-1 5

9 27

Noll=|v(G)=| | 2 b

9 27
12 det (A) = 16 x = 8 y = 6
13 det (A) = -3 x = -4 % 5
14 det(p) =1 X =4 v 2 z =3
15 det (A) = 10 x = -4 y = 8 z = 2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXKXXXKXKXXKKXXKXXKXKKXKMS/1-6400311-00044XX

Matrices02 Answers for No.645111
ExerciseMatrices02 Answers for No.645111

01
03
05
07
09

12
13
14
15

X Math@MUT X

det (A7)
det (C)
det (E)

m*det (C

X 3

det (A)

= -14

= -27

80

) ~det (PE)

Noll=|Inv(G)=

-10
-11
8
3

XXX

X

-5147

=

Matrices02 Answers for No.645112
ExerciseMatrices02 Answers for No.645112

01
03
05
07
09

det (A)
det (C)
det (E)

m*det (C) —det (pE)

X -4

-21
= 34
44

Noll =| Inv(G) =

=7

x =
):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢

X
X
X

-2748

1
8
1
6
_5 y:
-3 y =
3 y =
_3 y =

Z
Z

=N FURCCN

Z
Z

-3
-5

-2
-8

XXX XXX XXX XXKXKX KKK KKK KKK KKK KKK KKK KKK K KKK KKK KKKXKKME/1-6400311-00045XX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXXXKXKXKXKXKXMS/1-6400311-00046XX
Matrices02 Answers for No.645113
ExerciseMatrices02 Answers for No.645113

01 : det(pA) = -18 02 : det(B) = -20

03 : det(C) = 32 04 : det(D) = 4

05 : det(E) = -20 06 : det(F) = -74

07 : m*det (C)-det (pE) = 1344 08 : det (m*D)-p*det (F) = 312
09 : x =4 10 : vy =4

4l
Noll =|Inv(G)= ) ? ) )

y

y

y

y

45 9
12 : det(A) =5 X = 2 = -3
13 : det(A) = 8 X = 6 = -2
14 : det(nA) = -2 X =4 =5 z = -6
15 : det(pr) = =20 X = 2 = -3 z = 6

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00047XX
Matrices02 Answers for No.645114
ExerciseMatrices02 Answers for No.645114

01 : det(p) = 8 02 : det(B) = 15
03 : det(C) = 26 04 : det(D) = 12
05 : det(E) = -32 06 : det(F) = -54
07 : m*det (C)-det(pE) = 2126 08 : det (m*D)-p*det (F) = 324
09 : x = -3 10 : vy =3

3 -2

14

Noll=|v(G)=| | Sl

7 7
12 : det(pA) = 13 X = 0 y = 3
13 : det(A) = =25 X = -3 y = 2
14 : det(pA) = 3 x =4 y = 2 z = -8
15 : det(A) =5 X = -0 y = 8 z =5

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXM5/1-6400311-00048XX
Matrices02 Answers for No.645115
ExerciseMatrices02 Answers for No.645115

01 : det(A) = -18 02 : det(B) = -13

03 : det(C) = 36 04 : det (D) = -133

05 : det(E) = -64 06 : det(F) = -12

07 : m*det (C)-det(pE) = 4132 08 : det(m*D)-p*det (F) = -85
09 : x =4 10 : vy = 2

2 5
33 33
Noll =| Inv(G) = 5 a P ,

33 33

12 : det(A) =5 X = 2 y = 4

13 : det(na) = 29 X =5 y = 2

14 det (A) = 2 x = =7 y = 4 z = -6

15 : det(A) = -4 x = 3 y = =2 z = 4

X [Page = 0016] XXXXXXXXXXXXXXXXXKXXXXKXXKXXXXKKXXKXKXKXXXKXKXKXKXKK XK KXKXKKKXKXKXKKKKKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMS/1-6400311-00049XX
Matrices02 Answers for No.645116
ExerciseMatrices02 Answers for No.645116

01
03
05
07
09

12
13
14
15

det (A7)
det (C)
det (E)

m*det (C

X = 2

det (A)

= -10
=1
= -1
)—det (pE) = 3
3
5
Noll=|Inv(G)=|
5
= 16 X = -6 y =1
= -30 b -5 y =7
= -36 X = 2 % 3
= -1 x = -7 y = -4

02
04
06
08
10

Z

= -4
=2

X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXKXKXKXMS/1-6400311-00050XX
Matrices02 Answers for No.645117
ExerciseMatrices02 Answers for No.645117

01
03
05
07
09

12
13
14
15

X Math@MUT X

det (A7)
det (C)
det (E)

m*det (C

x = 2

det (A)

= -7
= -26
= 40

) —det (pE) = -346

1
9
Noll=|Inv(G)=| |
9
= -10 X = -5 y =7
= 16 X -6 y = 2
= 16 x = 4 y = -3
= -15 x = -7 y =3

Matrices02 Answers for No.645118
ExerciseMatrices02 Answers for No.645118

01
03
05
07
09

det (A)
det (C)
det (E)

m*det (C

x = -4

= 15

= 28

-18

) —det (pE) =

172

1
3
Noll =| Inv(G) = )
3
Yy
Yy
y

= -5 x = =7 = -4
= 8 X = -6 = -7
=10 x = 4 6

= -15 x = 2 y = -6

02
04
06
08
10

Z
Z

02
04
06
08
10

olu oL

Z
Z

= -2
= 4

det
det
det
det

y = -

(B
(D
(F
(

= -3
= -3

)

)

)
m*D) -

3

XXX XXX XXX XXX KKK KKK KKK KKK KKK KKK KKK K KKK KKK KKKKKME/1-6400311-00051XX

= -22

78
-39

p*det (F) = 156

):0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:0:0.0:0:9.0:9.:9.0:9:0.0:0:0.0:0:0.0:0:9.0:0:9.0:0:9.0:0:9.0:0:0.0:0:0.0:0:0.0:¢



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXKXKXXKXKXMS/1-6400311-00052XX
Matrices02 Answers for No.645119
ExerciseMatrices02 Answers for No.645119

01 : det(A) = =20 02 : det(B) = 8
03 : det(C) = -9 04 : det (D) = -200
05 : det(E) = =72 06 : det(F) = 108
07 : m*det (C)-det(pE) = 549 08 : det (m*D)-p*det (F) = -2016
09 : x =4 10 : vy = 2
-2
-1 —
5
Noll = InV(G){ s b
1 —
5
12 : det(A) = 18 X = 0 y = 5
13 : det(A) = 27 X = -6 y =5
14 : det(A) = 3 x = =3 y = -2 z = =8
15 : det(A) = 9 x =5 y = -3 z =4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX XXX XXX XKXXKXKXMS/1-6400311-00053XX
Matrices02 Answers for No.645120
ExerciseMatrices02 Answers for No.645120

01 : det(A) = 9 02 : det(B) = 21
03 : det(C) = =20 04 : det(D) = -5
05 : det(E) = -102 06 : det(F) = -8
07 : m*det (C)-det(pE) = 2674 08 : det (m*D)-p*det (F) = -56
09 : x =2 10 : y = -3

-1 1

Noll=|Inv(G)=| -3 4 ||

5 5
12 : det(hA) = -24 x = =3 y = 8
13 : det(p) = -22 X = 2 y = =7
14 : det(n) = -0 x = -4 y = 2 z =3
15 : det(A) = 10 X =4 y = =2 z = -8

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXXXXXXXXXXM5/1-6400311-00054XX
Matrices02 Answers for No.645121
ExerciseMatrices02 Answers for No.645121

01 : det(pA) = =19 02 : det(B) 12
03 : det(C) = 92 04 : det (D) = -98
05 : det(E) = -40 06 : det(F) = -12
07 : m*det (C)-det (pE) = 408 08 : det(m*D)-p*det (F) = -1556
09 : x =3 10 : vy = -4

2 1

Noll =|Inv(G)=| 3 N

1 -1
12 : det(A) = 28 x = -3 % -6
13 : det(nA) = 6 X =4 y = -3
14 det (A) = 39 x = =5 y = 3 z = 6
15 : det(p) = 12 X = -8 y = =7 z = 2

X [Page = 0018] XXXXXXXXXXXXXXXXXKXXXXKXXXXXXXKXXXXKXKXKXXXKXKXKXKXKKXKXKXKXXXKKXKXKXKKXKKXKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XKXXXKXKXKXKXMS/1-6400311-00055XX
Matrices02 Answers for No.645122
ExerciseMatrices02 Answers for No.645122

01 : det(A) = 9 02 : det(B) = -7

03 : det(C) = 20 04 : det(D) = 78

05 : det(E) = -84 06 : det(F) = -12

07 : m*det (C)-det (pE) = 5436 08 : det (m*D)-p*det (F) = 750
09 : x = -2 10 : vy = -4

2z A
25 5
Noll =|Inv(G)= .
S0
25 5
12 : det(A) = =25 x = =7 y = 4
13 : det(A) = -7 X -6 y =5
14 : det(A) = 8 X = =2 y = 4 z = 8
15 : det(a) = 12 x = -4 y = -3 z = 2

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXXXXKXKXKXKXMS/1-6400311-00056XX
Matrices02 Answers for No.645123
ExerciseMatrices02 Answers for No.645123

01 : det(p) = 23 02 : det(B) = -14

03 : det(C) = -9 04 : det (D) = 98

05 : det(E) = -76 06 : det(F) = -128

07 : m*det (C)-det(pE) = 40 08 : det (m*D)-p*det (F) = 1696
09 : x =3 10 : vy =3

2z 5
19 19
Noll=|Inv(G) = o
0 v(G) 3 2
19 19
12 : det(pr) = 4 X = 0 y = 8
13 : det(pA) = 14 x = 2 y = -7
14 : det(pr) = -11 x = -4 y = 8 z = =7
15 : det(p) = -3 x = -3 vy = 6 s = -2

X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXX XXX XXXXXXXXXXXM5/1-6400311-00057XX
Matrices02 Answers for No.645124
ExerciseMatrices02 Answers for No.645124

01 : det(A) = 9 02 : det(B) = 16
03 : det(C) = -36 04 : det (D) = -36
05 : det(E) = 60 06 : det(F) = 128
07 : m*det (C)-det(pE) = -168 08 : det (m*D)-p*det (F) = -452
09 : x = -2 10 : vy = -4
1
-1 —
2
Noll = InV(G){ | ) , ,
2 2
12 : det(A) = 35 x = =7 y = -5
13 : det(nA) = -30 X = -5 y = 4
14 det (A) = -3 x = =5 y = 4 z = =2
15 : det(A) = 10 X = -3 y = -4 z = =5
X [Page = 0019] XXXXXXXXXXXXXXXXXKXXXXKXKXKXXXKXKXXXXKXKXKXXKKXKKXKXKK XK KXKXXXKKXKXKXKKXKKXKXKX
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Matrices02 Answers for No.645125

ExerciseMatrices02 Answers for No.645125

01 det (A) = 16 02 det (B) = -19
03 det (C) = 67 04 det (D) = -74
05 det (E) = 24 06 : det(F) = -48
07 m*det (C) —det (pE) -1402 08 : det (m*D)-p*det (F) = -104
09 x = 4 10 : vy =3

-1 -

2

Noll=|Inv(G)=| | Sl

2
12 det (A) = -5 X = 0 y = -8
13 det (A) = -4 X = -3 y = 8
14 det (A) = 2 X = -5 y = =7 z =4
15 det (A) = -18 x =5 y = -8 z =3

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKXXXKKXXXKXXXXKXKKXKXKXKKKXKMS/1-6400311-00059X%XX

Matrices02 Answers for No.645126

ExerciseMatrices02 Answers for No.645126

01 det (A) = 11 02 det (B) 19
03 det (C) = -60 04 det (D) = -2
05 det (E) = -36 06 det (F) -16
07 m*det (C) -det (pE) 2184 08 det (m*D) -p*det (F) = 56
09 X = 2 10 y = -4

-1 4

7 21

Noll=|Tnv(G)=| | 1l

7 7
12 : det(n) = 14 x = 4 y =6
13 det (A) = 22 x =3 y = =7
14 det (A) = -10 X =7 v 2 z = -4
15 det (A) = 24 x = 3 y = 6 z =5

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXM5/1-6400311-00060XX
Matrices02 Answers for No.645127

ExerciseMatrices02 Answers for No.645127

01 det (A) = 10 02 : det(B) = 23
03 det (C) = -17 04 : det(D) = 54
05 det (E) = 88 06 : det(F) = -36
07 m*det (C) -det (pE) -2444 08 : det(m*D)-p*det (F) = 972
09 x =4 10 : y = -2
-5 2
17 17
Noll =| Inv(G) = 4 5 , ,
17 17
12 det (A) = =32 x = =7 y = -6
13 det (A) = 14 X = -3 y = -8
14 det (A) = -12 X = -3 y = =5 z =7
15 det (A) = 12 X = 2 y = 8 z =7
X [Page = 0020] XXXXXXXXXXXXXXXXXKXXXXKXXKXXXXKXXKKXKXKXXKKXKXKXKXKK XK KXKXX KK KXKKXKKKKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXKXKXXXKXXKXKXMS/1-6400311-00061XX
Matrices02 Answers for No.645128
ExerciseMatrices02 Answers for No.645128

01 : det(pr) = 15 02 : det(B) = -21

03 : det(C) = 30 04 : det(D) = 17

05 : det(E) = 72 06 : det(F) = -18

07 : m*det (C)-det (pE) = -486 08 : det (m*D)-p*det (F) = 189
09 : x = -3 10 : y = -3

4 3
41 41
N ]] = Il’l G = ) )
0 v(G) s 4
41 41
12 : det(pn) = -2 x =7 y = -5
13 : det(A) =4 x =3 y = 2
14 : det(A) = =12 X = =2 y = 3 z = 4
15 : det(A) = 10 X = =2 y = =7 z = 8

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXXKXKXKXKXMS/1-6400311-00062XX
Matrices02 Answers for No.645129
ExerciseMatrices02 Answers for No.645129

01 : det(pa) = =7 02 : det(B) = -13
03 : det(C) = =31 04 : det(D) = 73
05 : det(E) = 45 06 : det(F) = -68
07 : m*det (C)-det(pE) = -2911 08 : det (m*D)-p*det (F) = 345
09 : x = -2 10 : vy = 4

-1 1

7 7

Noll=|Inv(G)=| Sl

21 7
12 : det(hA) = 13 x =7 y = 6
13 : det(A) = =23 x = -5 y = =2
14 : det(n) = 22 x =5 y = -4 z =1
15 : det(pA) = 8 x =5 y = 2 z =4

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXXXXXXXXM5/1-6400311-00063XX
Matrices02 Answers for No.645130
ExerciseMatrices02 Answers for No.645130

01 : det(pa) = 19 02 : det(B) = =7

03 : det(C) = -31 04 : det(D) = 8

05 : det(E) = -6 06 : det(F) = 24

07 : m*det (C)-det(pE) = -56 08 : det(m*D)-p*det(F) = 8
09 : x =2 10 : y =4

-5 2
29 29
Noll =| Inv(G) = B 5 P ,

29 29

12 : det(A) = 16 x = -3 y = =2

13 : det(n) = -1 X = -6 y = =7

14 det (A) = -21 x = 4 y = -3 z = =5

15 : det(pn) = 12 x = -4 y = -6 z = -8

X [Page = 0021] XXXXXXXXXXXXXXXXXKXXXXKXXKXXXXKXXKXKXKXXKKXKKXKXKK XK KXKXXKKXKXKKKKKXKKX



[lD:0:0:0:0:0:0:0:0:0:00:0:0:0.0:0000 0000000000 00000.0.0.0.0.0.0.0.0.0.0 000000 00:0:00:0:0.0.0.0.0.0.0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:¢
L >



